Rk Hh = (B Kith ) No.31 RIFHAEAREIEE TS (HHE1)
| BOkEAH EX gy |[PUEAualSEsAnE] SRR
BOKESZ — | G 1'5) 1035 1053 | 1042

kg °c =18 20.0 221 226
— B B/ml 100 0 0 0
KEGE — |mianmnce TigH T FigH
MEUVZDIEEY me/L|  0.01 <0.001
ANMEIOLLEY)  |me/L| 002 <0.001
1%_;::// %@ﬁ_“ EC | ol oo <0.001
o mg/L 0.6 <0.05
SO0OFEEE me/L|  0.02 <0.002
2o00R)LL me/L|  0.06 0.007
SHOOBEE me/L|  0.03 0.004
STOE/O0A2Y  [me/L 0.1 0.003
L Ea me/L|  0.01 <0.001
INUIN=EC, mg/L 0.1 0.016
ko0 OEEEE me/L|  0.03 0.006
JOESH/O0044Y [meg/L|  0.03 0.006
KooERILLA me/L|  0.09 <0.001
& 7/RILLTFILTER meg/L|  0.08 <0.005
EERRUZOIEEY [me/L 1 0.008
‘@17,:’%"?%_7’/“&”%0’ meg/L| 02 0.008
HBEUZDIEEY  |me/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.021
TUHVRUVERIEEY|me/L|  0.05 <0.001
BiemAA> me/L| 200 12 12 12
SRFETR YY) mg/L 500 76
1A RI ng/L 10 <1 <1 <1
2—}?@«4@‘/2‘)%7}'—» ng/L 10 <1 <1 <1
AHM(EE R ®R
TOO)DE) me/L 3 0.8 0.8 0.9
pHIE — | 58~86 7.1 7.0 6.9
Lk — [Bgonnce| BREmL| BEgul|  Bgal
= — |BETHLIE| EELL| EBEELL] EBEEALL
BaE E 5 <0.5 <0.5 <0.5
AE = 2 0.1 <0.1 <0.1
>oo007+t=kJJL |meg/L|  0.01 0.001
fKkoa5—)L me/L|  0.02 0.002
SEEEES me/L| 0.1LLE 0.6 05 0.6
e I B o R mg/L 20 9
§|E$—7‘LE§J§(T0N) — 3 <1 A <1
e . -REELEL
NEBEGTITIER) | — ;:,*fg"”:ﬁ -1.7
REFXEME ®/m| 2000 0
FIVHUE mg/L — 33
BEXCER us/em — 122 123 123
LHMERIEE260) | — — 0.012 0.012 0.011




Rk Hh = (B Kith ) No.32 ExEHRE2—(HEE2)
| BOKEHH EX gy |PArA B[sRrEsAzA[ SRR 1A
BOKESZ — | G 1'5) 1005 1005 | 10220

kg °c =18 14.3 16.8 18.0
— AR AR f&/ml 100 0 0 0
KEGE — |mianmnce TigH T FigH
MEUVZDIEEY me/L|  0.01 <0.001
ANMEIOLLEY)  |me/L| 002 <0.001
iﬁ;’/ 1;%47]_“ EC | ol oo <0.001
o mg/L 0.6 <0.05
Y OOEEEE me/L|  0.02 <0.002
2o00R)LL me/L|  0.06 0.010
SHOOEE: me/L|  0.03 0.004
STOE/O0A2Y  [me/L 0.1 0.003
L Ea me/L|  0.01 <0.001
INUIN=EC, mg/L 0.1 0.021
=l=lF me/L|  0.03 0.006
JOESH/O0044Y [meg/L|  0.03 0.008
KooERILLA me/L|  0.09 <0.001
& 7/RILLTFILTER meg/L|  0.08 <0.005
EERRUZOIEEY [me/L 1 <0.004
HTLSSTARUED L 0 0,009
HBEUZDIEEY  |me/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.004
TUHVRUVERIEEY|me/L|  0.05 <0.001
BiemAA> me/L| 200 16 11 11
RAEZRBY mg/L| 500 77
1A RI ng/L 10 <1 1 <1
2—}—7&4‘/%»*7}-—» ng/L 10 <1 <1 <1
HEHY(EH#RER
TOODE) mg/L 3 1.0 0.9 0.8
pHIE — | 58~86 1.4 7.1 7.1
Lk — [Bgonnce| BREmL| BEgul|  Bgal
= — |BETHLIE| EELL| EBEELL] EBEEALL
BaE E 5 <0.5 <0.5 <0.5
AE = 2 <0.1 <0.1 <0.1
yon7eb=kJ)L |mg/L|  0.01
fakoas—IL me/L|  0.02
SEEEES me/L| 0.1LLE 0.4 0.4 0.4
(e8] ShE Bt o B mg/L 20 7
§|E$—7‘LE§J§(T0N) - 3 <1 <1 <1
el . -REELEL
NEBEGTITIER) | — g'gﬁgm(:ﬁ -1.8
REFXEME ®/m| 2000 0
FIVHUE mg/L — 28
BEXCER us/em — 135 125 127
LHMERIEE260) | — — 0.015 0.009 0.009




K s (BRoK i 4) No.33 —EBKER(ZS)
| BOKEHH ER HE(E SH7E4A88 | $H7ESA78 | SH74E6F248
BOKESZ — | G 1'5) 9:50 1008 | 1005

kg °c =18 15.4 216 243
— AR AR f&/ml 100 0 0 0
KEGE — |mianmnce TigH T FigH
MEUVZDIEEY me/L|  0.01 <0.001
f\ﬁﬁ’mgﬂsﬁ% meg/L|  0.02 <0.001
ST AA R
iy me/L|  0.01 <0.001
N me/L 0.6 <0.05
HOOEEEE me/L|  0.02 <0.002
==l JIWN mg/L|  0.06 0.014
OO me/L|  0.03 0.010
STOE/O0A2Y  [me/L 0.1 0.003
L Ea me/L|  0.01 <0.001
INUIN=EC, mg/L 0.1 0.025
ko0 OEEEE me/L|  0.03 0.008
JOESH/O0A2Y  |mg/L| 003 0.008
KooERILLA me/L|  0.09 <0.001
& 7/RILLTFILTER meg/L|  0.08 <0.005
EERRUZOIEEY [me/L 1 0.005
HTLSSTARUED L 0 0,032
HBEUZDIEEY  |me/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.002
TUAVRUZEDIEEH|me/L|  0.05 <0.001
BiemAA> mg/L| 200 18 20 14
RAEZRBY me/L| 500 181
SIARIY ng/L 10 A 2 A
2-AFJLAYRILFRF—)L |ng/L 10 <1 <1 <1
ﬁﬁ?&%ﬁ WRER || 3 13 16 0.9
pHIE — | 58~86 1.4 7.4 7.3
Lk — [Bgonnce| BREmL| BEgul|  Bgal
= — |BETHLIE| EELL| EBEELL] EBEEALL
BaE E 5 <0.5 <0.5 <0.5
AE = 2 <0.1 <0.1 <0.1
yon7eb=kJ)L |mg/L|  0.01
fakoas—IL me/L|  0.02
SEEEES me/L| 0.1LLE 0.6 0.3 0.6
e s B i me/L 20 6
§|E$—7‘LE§J§(T0N) - 3 <1 <1 <1
e . -1EELLEL
NEBEGTITIER) | — g'gﬁgm(:i& -0.9
REFXEME ®/m| 2000 0
FIVHUE mg/L — 75
BEXCER uS/om — 271 274 195
LHMERIEE260) | — — 0.016 0.019 0.014




1K H S (FER K 2) No.34 EFEMBIRER (BK&/XK)
| BOKEHH EX gy |PArEA B[sEsAzE[SHTFoA 1A
BOKESZ — | G 1'4;) 9:15 9:24 9:22
kg °c =18 15.4 220 231
— AR AR f&/ml 100 0 0 0
KEGE — |mianmnce TigH T FigH
MEUVZDIEEY me/L|  0.01 <0.001
ANMEIOLLEY)  |me/L| 002 <0.001
iﬁ;’/ 1;%47]_“ EC | ol oo <0.001
o mg/L 0.6 <0.05
Y OOEEEE me/L|  0.02 <0.002
==l JIWN mg/L|  0.06 0.016
SHOOBEE me/L|  0.03 0.008
STOE/O0A2Y  [me/L 0.1 0.002
L Ea me/L|  0.01 <0.001
INUIN=EC, mg/L 0.1 0.026
=l=lF me/L|  0.03 0.009
JOESH/O0A2Y  |mg/L| 003 0.008
KooERILLA me/L|  0.09 <0.001
& 7/RILLTFILTER meg/L|  0.08 <0.005
EERRUZOIEEY [me/L 1 <0.004
HTLSSTARUED L 0 0,040
HBEUZDIEEY  |me/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.003
TUAVRUZEDIEEH|me/L|  0.05 <0.001
BiemAA> mg/L| 200 19 17 16
RAEZRBY me/L| 500 153
SIARIY ng/L 10 A A A
2—}—7&4‘/%»*7}-—» ng/L 10 <1 <1 <1
HEHY(EH#RER
TOO)DE) me/L 3 1.2 1.1 0.9
pHIE — | 58~86 15 7.4 7.3
Lk — [Bgonnce| BREmL| BEgul|  Bgal
= — |BETHLIE| EELL| EBEELL] EBEEALL
BaE E 5 <0.5 <0.5 <0.5
AE = 2 <0.1 <0.1 <0.1
yon7eb=kJ)L |mg/L|  0.01
fakoas—IL me/L|  0.02
SEEEES me/L| 0.1LLE 0.6 0.7 0.7
(e8] ShE Bt o B mg/L 20 8
§|E$—7‘LE§J§(T0N) - 3 <1 <1 <1
e . -REELEL
NEBEGTITIER) | — g'gﬁgm(:ﬁ -1.0
REFXEME ®/m| 2000 0
FIVHUE mg/L — 52
BEXCER uS/om — 270 261 238
LHMERIEE260) | — — 0.017 0.013 0.012




Rk Hh = (B Kith ) No.35 B/ AKMRt> 42— (RiE)
| BEXKERH EXi gy |PruEeAualsEoAnE] SRR
BOKESZ — | G 1'4;) 9:25 9:20 9:16

kg °c =18 19.2 230 230
— AR AR f&/ml 100 0 0 0
KEGE — |mianmnce TigH T FigH
MEUVZDIEEY me/L|  0.01 <0.001
ANMEIOLLEY)  |me/L| 002 <0.001
1%_;::// 1%’@’”” BU) el oot <0.001
N me/L 0.6 <0.05
HOOEEEE me/L|  0.02 <0.002
2o00R)LL me/L|  0.06 0.019
SHOOBEE me/L|  0.03 0.007
STOE/O0A2Y  [me/L 0.1 0.003
L Ea me/L|  0.01 <0.001
R AOARY mg/L 0.1 0.031
ko0 OEEEE me/L|  0.03 0.010
JOESH/O0A2Y  |mg/L| 003 0.009
KooERILLA me/L|  0.09 <0.001
& 7/RILLTFILTER meg/L|  0.08 <0.005
EERRUZOIEEY [me/L 1 0.007
HTLSSTARUED L 0 0,043
HBEUZDIEEY  |me/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.004
TUAVRUZEDIEEH|me/L|  0.05 <0.001
BiemAA> me/L| 200 19 17 18
RAEZRBY me/L| 500 172
SIARIY ng/L 10 A A A
2—%?%4@‘/#{)1««?7}'—» ng/L 10 A < <1
AHM(EE R ®R
TOO)DE) me/L 3 1.2 1.1 1.0
pHIE — | 58~86 1.4 7.3 7.3
Lk — [Bgonnce| BREmL| BEgul|  Bgal
= — |BETHLIE| EELL| EBEELL] EBEEALL
BaE E 5 <0.5 <0.5 <0.5
AE = 2 <0.1 <0.1 <0.1
yon7eb=kJ)L |mg/L|  0.01
fakoas—IL me/L|  0.02
SEEEES me/L| 0.1LLE 0.6 05 0.6
e I B o R me/L 20 6
§|E$—7‘LE§J§(T0N) — 3 <1 A <1
e . -1EELLEL
NEBEGTITIER) | — g'gﬁgm(:i& -0.9
REFXEME ®/m| 2000 0
FIVHUE mg/L — 70
BEXCER uS/om — 272 251 260
LHMERIEE260) | — — 0.016 0.017 0.013




K s (BRoK i 4) No.36 FFHREVZ—(5)
| BOKEHH ER HE(E SH7E4A88 | $H7ESA78 | SH74E6F248
BOKESZ — | G 1'5) 9:22 9:30 1035

kg °c =18 156 234 245
— AR AR f&/ml 100 0 0 0
KEGE — |mianmnce TigH T FigH
MEUVZDIEEY me/L|  0.01 <0.001
ANMEIOLLEY)  |me/L| 002 <0.001
iﬁ;’/ 1;%’”—“ A PR Y Y <0.001
o mg/L 0.6 <0.05
SO0OFEEE me/L|  0.02 <0.002
==l JIWN mg/L|  0.06 0.016
OO me/L|  0.03 0.009
STOE/O0A2Y  [me/L 0.1 0.003
L Ea me/L|  0.01 <0.001
INUIN=EC, mg/L 0.1 0.027
ko0 OEEEE me/L|  0.03 0.009
JOESH/O0A2Y  |mg/L| 003 0.008
KooERILLA me/L|  0.09 <0.001
& 7/RILLTFILTER meg/L|  0.08 <0.005
EERRUZOIEEY [me/L 1 0.008
HTLSSTARUED L 0 0,030
HBEUZDIEEY  |me/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.004
TUAVRUZEDIEEH|me/L|  0.05 <0.001
BiemAA> mg/L| 200 18 20 8
RAEZRBY me/L| 500 180
SIARIY ng/L 10 A A A
2-AFJLAYRILFRF—)L |ng/L 10 <1 <1 <1
ﬁﬁ?&%ﬁ WRER || 3 13 12 0.9
pHIE — | 58~86 15 15 7.4
Lk — [Bgonnce| BREmL| BEgul|  Bgal
= — |BETHLIE| EELL| EBEELL] EBEEALL
BaE E 5 <0.5 <0.5 <0.5
AE = 2 <0.1 <0.1 <0.1
yon7eb=kJ)L |mg/L|  0.01
fakoas—IL me/L|  0.02
SEEEES me/L| 0.1LLE 0.6 0.6 0.8
sz dodiv mg/L 20 6
§|E$—7‘LE§J§(T0N) - 3 <1 <1 <1
e . -IREELEE
NEBEGTITIER) | — g'gﬁgm(:i& -0.8
REFXEME ®/m| 2000 0
FIVHUE mg/L — 75
BEXCER uS/om — 271 279 250
LHMERIEE260) | — — 0.015 0.014 0.014




K s (BRoK i 4) No.37 SR (EZRE)
| BOkEAH EX gy |PArEA B[sRrEsAzE[ SRR 1A
BOKESZ — | G 1'4;) 9:34 9:53 9:50

kg °c =18 137 19.1 208
— AR AR f&/ml 100 0 0 0
KEGE — |mianmnce TigH T FigH
MEUVZDIEEY me/L|  0.01 <0.001
ANMEIOLLEY)  |me/L| 002 <0.001
1%_;::// %@ﬁ_“ EC | ol oo <0.001
o mg/L 0.6 <0.05
SO0OFEEE me/L|  0.02 <0.002
==l JIWN mg/L|  0.06 0.020
SHOOBEE me/L|  0.03 0.010
STOE/O0A2Y  [me/L 0.1 0.003
L Ea me/L|  0.01 <0.001
INUIN=EC, mg/L 0.1 0.032
=l=lF me/L|  0.03 0.010
JOESH/O0A2Y  |mg/L| 003 0.009
KooERILLA me/L|  0.09 <0.001
& 7/RILLTFILTER meg/L|  0.08 <0.005
EERRUZOIEEY [me/L 1 <0.004
HTLSSTARUED L 0 0,040
HBEUZDIEEY  |me/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.005
TUHVRUVERIEEY|me/L|  0.05 <0.001
BiemAA> me/L| 200 19 18 16
RAEZRBY me/L| 500 161
SIARIV ng/L 10 A A A
2—}—7&4‘/%»*7}-—» ng/L 10 <1 <1 <1
HEHY(EH#RER
ToODE) me/L 3 1.2 1.1 0.9
pHIE — | 58~86 1.4 15 7.3
Lk — [Bgonnce| BREmL| BEgul|  Bgal
= — |BETHLIE| EELL| EBEELL] EBEEALL
BaE E 5 <0.5 <0.5 <05
AE = 2 <0.1 <0.1 <0.1
yon7eb=kJ)L |mg/L|  0.01
fakoas—IL me/L|  0.02
SEEEES me/L| 0.1LLE 0.3 0.4 0.8
(e8] ShE Bt o B mg/L 20 6
§|E$—7‘LE§J§(T0N) — 3 <1 A <1
e . -REELEL
NEBEGTITIER) | — gé@;or:ﬁ -11
REFXEME B/m| 2000 0
FIVHUE mg/L — 50
BEXCER uS/om — 268 259 236
LHMERIEE260) | — — 0.016 0.013 0.012




Rk Hh = (B Kith ) No.38 BETR 42— (HIE)
| BOKEHH ER HE(E SH7E4A88 | $H7ESA78 | SH74E6F248
BOKESZ — | G 1'5) 10:15 10:40 9:40

kg °c =18 17.2 206 251
— AR AR f&/ml 100 0 0 0
KEGE — |mianmnce TigH T FigH
MEUVZDIEEY me/L|  0.01 <0.001
f\ﬁﬁ’mgﬂsﬁ% meg/L|  0.02 <0.001
ST AA R
b7 mg/L|  0.01 <0.001
o mg/L 0.6 <0.05
SO0OFEEE me/L|  0.02 <0.002
==l JIWN mg/L|  0.06 0.015
OO me/L|  0.03 0.008
STOE/O0A2Y  [me/L 0.1 0.003
L Ea me/L|  0.01 <0.001
INUIN=EC, mg/L 0.1 0.026
ko0 OEEEE me/L|  0.03 0.008
JOESH/O0A2Y  |mg/L| 003 0.008
KooERILLA me/L|  0.09 <0.001
& 7/RILLTFILTER meg/L|  0.08 <0.005
EERRUZOIEEY [me/L 1 <0.004
HTLSSTARUED L 0 0,034
HBEUZDIEEY  |me/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.003
TUAVRUZEDIEEH|me/L|  0.05 <0.001
BiemAA> me/L| 200 19 20 17
RAEZRBY me/L| 500 178
SIARIY ng/L 10 A A A
2-AFJLAYRILFRF—)L |ng/L 10 <1 <1 <1
ﬁﬁ?&%ﬁ WRER || 3 13 13 10
pHIE — | 58~86 1.4 7.4 7.3
Lk — [Bgonnce| BREmL| BEgul|  Bgal
= — |BETHLIE| EELL| EBEELL] EBEEALL
BaE E 5 <0.5 <0.5 <0.5
AE = 2 <0.1 <0.1 <0.1
yon7eb=kJ)L |mg/L|  0.01 0.002
fKkoa5—)L me/L|  0.02 0.004
SEEEES me/L| 0.1LLE 0.6 0.7 0.9
e s B i me/L 20 7
§|E$—7‘LE§J§(T0N) - 3 <1 <1 <1
e . -1EELLEL
NEBEGTITIER) | — g'gﬁgm(:i& -0.8
REFXEME ®/m| 2000 0
FIVHUE mg/L — 75
BEXCER uS/om — 274 2717 250
LHMERIEE260) | — — 0.016 0.016 0.015




K s (BRoK i 4) No.39 #HHREAE(EY )
| BOKEHH ER HE(E SH7E4A88 | $H7ESA78 | SH74E6F248
BOKESZ — | G 1'4;) 8:50 9:20 9:10

kg °c =18 17.0 214 26.0
— AR AR f&/ml 100 0 0 0
KEGE — |mianmnce TigH T FigH
MEUVZDIEEY me/L|  0.01 <0.001
ANMEIOLLEY)  |me/L| 002 <0.001
1%_;::// 15’@’”” BU) el oot <0.001
N me/L 0.6 <0.05
HOOEEEE me/L|  0.02 <0.002
==l JIWN mg/L|  0.06 0.011
OO me/L|  0.03 0.003
STOE/O0A2Y  [me/L 0.1 0.003
L Ea me/L|  0.01 <0.001
INUIN=EC, mg/L 0.1 0.023
ko0 OEEEE me/L|  0.03 0.007
JOESH/O0A2Y  |mg/L| 003 0.009
KooERILLA me/L|  0.09 <0.001
& 7/RILLTFILTER meg/L|  0.08 <0.005
EERRUZOIEEY [me/L 1 0.005
HTLSSTARUED L 0 0.009
HBEUZDIEEY  |me/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.006
TUAVRUZEDIEEH|me/L|  0.05 <0.001
BiemAA> mg/L| 200 12 12 17
SRFETR YY) mg/L 500 83
SIARIY ng/L 10 A A A
2-AFJLAYRILFRF—)L |ng/L 10 <1 <1 <1
ﬁﬁ*ﬁ,&%’f%m% mg/L 3 08 0.9 08
pHIE — | 58~86 15 15 7.4
Lk — [Bgonnce| BREmL| BEgul|  Bgal
= — |BETHLIE| EELL| EBEELL] EBEEALL
BaE E 5 <0.5 <0.5 <0.5
AE = 2 <0.1 <0.1 <0.1
yon7eb=kJ)L |mg/L|  0.01
fakoas—IL me/L|  0.02
SEEEES me/L| 0.1LLE 0.3 0.3 0.3
sz dodiv mg/L 20 3
§|E$—7‘LE§J§(T0N) - 3 <1 <1 <1
e . -1EELLEL
NEBEGTITIER) | — g'gﬁgm(:i& -1.3
REFXEME ®/m| 2000 0
FIVHUE mg/L — 34
BEXCER us/em — 125 126 129
LHMERIEE260) | — — 0.010 0.010 0.011




Rk Hh = (B Kith ) No40 VDUEHAEIREEXF(ES)
| EKERH B SRIEAR 1B SAIF5A2I B RHTF6A IR
KB - (%}EE) 11:19 11:24 11:21

kg °c =18 14.1 204 21.7
— B B/ml 100 0 0 0
KEGE — |mianmnce TigH T FigH
MEUVZDIEEY me/L|  0.01 <0.001
ANMEIOLLEY)  |me/L| 002 <0.001
iﬁ;’/ 1;%47]_“ EC | ol oo <0.001
o mg/L 0.6 <0.05
Y OOEEEE me/L|  0.02 <0.002
==l JIWN mg/L|  0.06 0.015
OO me/L|  0.03 <0.002
STOE/O0A2Y  [me/L 0.1 0.003
L Ea me/L|  0.01 <0.001
INUIN=EC, mg/L 0.1 0.026
=l=lF me/L|  0.03 0.007
JOESH/O0044Y [meg/L|  0.03 0.008
KooERILLA me/L|  0.09 <0.001
& 7/RILLTFILTER meg/L|  0.08 <0.005
EERRUZOIEEY [me/L 1 <0.004
‘@17,:’%"?%_7’/“&”%0’ me/L| 02 0.023
HBEUZDIEEY  |me/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.003
TUHVRUVERIEEY|me/L|  0.05 <0.001
BiemAA> me/L| 200 18 15 9
RAEZRBY mg/L| 500 84
1A RI ng/L 10 <1 <1 <1
2—}?@«4@‘/2‘)%7}'—» ng/L 10 <1 <1 <1
AHM(EE R ®R
TOO)DE) me/L 3 1.0 1.0 0.7
pHIE — | 58~86 76 7.6 7.6
Lk — [Bgonnce| BREmL| BEgul|  Bgal
= — |BETHLIE| EELL| EBEELL] EBEEALL
BaE E 5 <0.5 <0.5 <0.5
AE = 2 <0.1 <0.1 <0.1
yon7eb=kJ)L |mg/L|  0.01
fakoas—IL me/L|  0.02
SEEEES me/L| 0.1LLE 0.3 0.4 0.4
(e8] ShE Bt o B mg/L 20 2
§|E$—7‘LE§J§(T0N) - 3 <1 <1 <1
e . -REELEL
NEBEGTITIER) | — g'gﬁgm(:ﬁ -1.2
REFXEME ®/m| 2000 4
FIVHUE mg/L — 30
BEXCER uS/om — 243 196 124
LHMERIEE260) | — — 0.015 0.014 0.009




